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1. Which of the following equations matches the graph below?

Slope-Intercept Form

¥
4 A y = —%jr; —_ 4
3
2
1 B Yy o= —%:E + 4
53327 [12v3 a5 "%
-1
) c. ¥= -2z +4
-3
:; p ¥ =25 -4
2.At what point does the line given by 3. Atwhat point does the line given by the
the following equation cross the y axis? following equation cross the y-axis?
y = (3h)x + 2 y = (*lo)x - 4
A (0.1%) A (0, %)
B. {D -BIIrT} B. {D -4}
C. (0,2) C. (0,%)
D- (0, %) D (0, ")
4. What is the slope of the line below?
A. 2
1
B. 5
c. ~2
1
D. -3




5
5. A linear function has a slope of 4 and passes through the point

(0,-11). What is the equation of the line?

o) 55
B. y = 2¢ — 11
Y = 1
_ 2
C. y =z +1
o)
D Y = 3% + 11
6. Which of the following equations matches the graph below? 7. A linear function has a y-intercept of 12 and
a slope of 5. What is the equation of the line?
B ¥ = Br 4 60
B ¥ = -3z-1 1
C. v = EL + 12
¢y Lot D, v =5z 412
1
D. ¥y =3z +1
8.Which of the following equations matches the graph below? 9. Identify the slope of the line below.
¥y 4x-3y=-6
1
> A. Y = —3% + 3 A. _%
3
2 = —3r + 3
1 B. Y B, 2
3
1 C. y=1zr-3
-2 _2
3 C.
5 D. 2
10. 2x-4y=-8
- : . (2,0)
What is the y-intercept of the equation above?
B (0, ")
c. (-3,0)

D. (0, 2)



